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Question Number : 1 Question Id : 5471142801 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Every non-empty subset of a Linearly Independent set of vectors is
28 2wa ﬂﬂse:’mgé AT DS @S, DS SDINS e
Options :

Linearly Independent

. 20022 S“Seﬁogém



Linearly dependent

22022 DTCAT D

Vector space

2EFRoSST Y0
3. %
None of these
DO P
4. %

Question Number : 2 Question Id : 5471142802 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following 1s a subspace of the vector space R (R) ?
SoToSTretiy R(R)8, & (Bob AE DB irosTEiny ©9%0b?

Options:

{(.T.j*.:) c R /*r_ O,y= O}

{(x.9.z)e B [x-1=0.y=0}

{(x.9.2)e B 25+ 3y +4z-3=0,z=0]



{(.‘r.y.:) e R’ /.*r+2_1' — e el s 0}

4. &

Question Number : 3 Question Id : 5471142803 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The coordinates of (1,-2.5) with respect to the basis {(1 L1),(1,2,3),(2,-L, l)} is

(LL1),(12.3),(2.-L1) emdo (L-2.5)d)aks 968 driwes

Options :

Question Number : 4 Question Id : 5471142804 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



IfT:R® — R®isalinear transformation defined by T(x,y,2) = X—-y,y—-22 —

X) then rank T

T(xy,2) = (X=y,y-2,2 —x) & Dodwd T:R* - R® awer D056

a0, 03¢ £

Options :

-2

Lad

Question Number : 5 Question Id : 5471142805 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let T:R° > R*and H: K - R*be defined by T (x,3.2)=(3x,y+z)and
H(x.p.z)=(2x-z.y)then HI'=

T:R >R %ba H: B - R e T(x.y.2)=(3xy+z) HBck

H(x,p.z)=(2x-zy) ™ & H[=_ .

Options :



(2x.4y)

1. %
(v.4z2)
2. 8
(.T +3y,z)
3.¢
not defined
SNAIBS I
4, %

Question Number : 6 Question Id : 5471142806 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If a linear transformation T:7;(R)—73(R) be defined by
T(x.y)=(x+y.2x—y.7y) then the matrix of T with respect to the standard basis
of 5 and I3is
o8 awey J8568 T:75(R)->T5(R)D T(x.p)=(x+y.2x-1.7y)
™ AGR0AS, V5000 T3 o (@Hds emroe s T @) e .
Options :

i 5 4
Il =1 =¥

1. %



= =0
o R e

2. %
_1 1 _
2 -1
)
3.¢¥ B
_ []_
0
_[} []_
4, %

Question Number : 7 Question Id : 5471142807 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Schwarz’s inequality in inner product space V(F) 1s

208 09058 @e)0e5T°W0eS” .5‘% 5 928 deh
@ Ne

Options :

(@, B)I < llelllIAl

1.4

lla + Bl = [lell + Il



lla + BII? + lla — BII* = 2llall* + 2]I8]I?
3. %

ot
— _]_ e i
Fle+ BT —3

Question Number : 8 Question Id : 5471142808 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If, 3 are two vectors in an inner product space such that |(a. ) = |a] | 3] then
a,fare_.
(@.5)|= o] | ooty @ feo wosgapostrios™ 3R Toto
S0%oaws, a.fer .

Options :

linearly independent

enoer o (@Pen

1. %
linearly dependent
enoer DT HTLD

2.¢
Orthogonal

002 DhBen



Orthonormal

©02IPE)O0gPeD

Question Number : 9 Question Id : 5471142809 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A unit vector orthogonal to (1.2)in R%is
R*& (1.2) Q68 womorr GOG CoreQeS HBE :

Options :

1. % (2-1)

C ] -8
5745

Question Number : 10 Question Id : 5471142810 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following statement is TRUE about every »xn matrix with only real

eigen values?

TS RS deoder EOAS (98 nxn LeBES Sowofod), & Bod e’ 26 Q&5

Options :

1.

L

.

#®

If the trace of the matrix is positive and determinant of the matrix is negative,
then at least one of its eigen values is negative

(21 i&né@ (g S)ég Qreste dudo (trace) émégéo s0B05m &}U;zﬁéo
(determinant) aner$Eo w8 Kr(@% @v¥) aAS Jewwdd Eko e5B

ma@ué{&éo )08,

If the trace of the matrix is positive then all its eigen values are positive

(@8 @n¥) BEes D8P Srosre Indo (trace) BB Sr@E g o)

ONQ Qe0aeD rE)Sore Botron

If the determinant of the matrix is positive then all its eigen values are
positive

|65 tﬁné@ K)U;déa’m éméﬁ&é@_ﬁ, P O R e émé&éa’m

If the product of the trace and determinant of the matrix is positive then all its
eigen values are Positive

IP(BE TE) (HEF ASHRresTy dngo bdn JTEsTe VR HTEEM

©ond, TP o) AR Henden g8



Question Number : 11 Question Id : 5471142811 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
2a y2ax-x°
Changing into polar coordinates J J dxdy becomes
0 0
2a \2av-x>
J J dvdy C‘.SJBS X588t (polar coordinates) sﬁa-oquw .
0 0
Options :

J J | r dBdr

0 0
1. &

T 2asinf

J I 7 drd@
5 @ 0 0

T 2acos@

| j drd@

0 0
3. &

% 2costd
[ [ drae
0 0



Question Number : 12 Question Id : 5471142812 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

7

e .[ SIN X + COS X

2 Nsin 2x
%%
i ; <

SINl X+ COS X v/ 581
A= j dv wond | 2sin—=+1| Denss =

2, Afsin2x \ 2 ) —
%

{ . 4_,1 b
dx then the value of ‘ QSIH?H J =

—

Options :
V-1
2
1. %
3
2. ¢

it
3. # -
3
2
4. %

Question Number : 13 Question Id : 5471142813 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The volume of the region in the first octant bounded by

. 2
x=0,y=x,y=2-x",z=0 andz=x"1s

~

b ofdrodo (firstoctant ) & ¥=0,y=x,y=2-1"z=0%00 7=x"

oF Boniidly (Hadn o8 H¥SoSrmo .

Options :
s
3
1. %
13
60
2. ¢
¥4
60
3. %
=
3
4. %

Question Number : 14 Question Id : 5471142814 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The vector field F =x7 — yis .
voTgsin F=xi —1jedn .

Options:



divergence free but not irrotational

éﬁ?&é N80 ©HH0d, 2D [@seadiessin oM.

1. %
divergence free and irrotational
PRy ©R0ITEes0 DOAW (2e0eadardin ©)HE0H
2. &
irrotational. but not divergence free
[sneadaresin wsysok, o) »ﬁ:vréé 9000089500 S°X.
3. %
neither divergence free nor irrotational
&Py ©HHBEED SR ([@HBSIPSID SN .
4. %

Question Number : 15 Question Id : 5471142815 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The value of V? (E)

r

V2 (}) B0g), Dewsd

Options :
0
1.¢
2



(8]

Question Number : 16 Question Id : 5471142816 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If 7and b are two arbitrary vectors with magnitudes a and b respectively, then
‘Exﬂzz_;
0 86 D e» Dot $5568en 5Bk B SoSrerer SHRP a.b oowd
‘Exﬂzz_;

Options :

“

a’b® —(a-b)

1. ¢
s 4 D
ﬂ'b’—(ﬁxf}]
2. #®
a*h?
3. #
1—(5}(5)



Question Number : 17 Question Id : 5471142817 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

g

The directional derivative of f ==4/x"+ " at (1,1) in the direction of

2 | —

- G ]. 7 o
568 b =7 -7 046 (L1) Qoo 5 f=—\x +)" g B Gg0

Options:

2. %
L
N2
3. %
4. & L

Question Number : 18 Question Id : 5471142818 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Ifa=x+y+z,b= x*+y?+ 22 c=xytyztzx then[Va, Vb, Vc] =

a=x+y+z,b= x2+y?+272% c=xytyz+zx eond [Va, Vb, Vc] =

Options :

|
1. %

2
2. %

0
3.¢¥

4
4, %

Question Number : 19 Question Id : 5471142819 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2
If # =t%i —tj+ (2t + 1)k then %hﬂt:[}is
2
Fo=t%—tj + (2t + Dk wand t =058 || =

Options:



-3

Question Number : 20 Question Id : 5471142820 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

It F=3u7 -7 then J F-dr=

,where C 1 the curve in the xy—plane
4

y=2x* from (0,0)to(1,2).

F=3n7 -7 %6ab xy—doiné® (0.0) $o0f (1.2).56% y=2x"sid C

S ooy [Fodr=

¢

Options :

= | o

oy | —a



Question Number : 21 Question Id : 5471142821 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
S is the closed surface then [f curlF.Nds =

S 08 Dodyddwo eand [[ curlF. Nds=

Options :
0
1.¢
i |
2. %
-2
3. %
2
4, %

Question Number : 22 Question Id : 5471142822 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The value of J‘(l\’ i +3y) +4z2k |- Nds js _.where S 1s the surface of the sphere
S

b od g
rty =0,

S oD ¥+ 427 =0, & FEn ng) a680sn eond

(o +30 4ck - s oy s

S
Options :
A
3
1. %
127
2. %
367
3.
O
4.

Question Number : 23 Question Id : 5471142823 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let o be an element in a group Gsuch that O(a ) =20 then O(nﬁ) =,
Sdarso G 6° O(a]:ZO@(ﬁJééaé;g a &3 Srosin sol eyl O(aé) =

Options :



1. %

10
2.9

3
3. ®

2
4, %

Question Number : 24 Question Id : 5471142824 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The mverse of 3 in the group G= {1.3.5,7} w.r.t multiplication modulo 8 is
8 st ErisBo aps SkwesFo G = {1.3.5.7) & 3 & 9k,

Options :

fad

hn

|



Question Number : 25 Question Id : 5471142825 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of group homomorphisms from the cyclic group Z, to the cyclic group
A
Sl Smiho Zy$od Shdh Smiro Zy8% Ko Sk Shbrsse Sogy .

Options:

~]

fad

Question Number : 26 Question Id : 5471142826 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following 1s a groupoid but not semi-group?

& (Bob A& (rarank (Groupoid) son ©f SHwrsro S0 267
Options:

1.



(&)

(0-)

(2.-)

(N.+)

Question Number : 27 Question Id : 5471142827 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If G be a cyclic group such that order of G 1s 48 then the number of all proper
subgroups of Gis .

$8ah Sy G Gng) $6K8 48 woud G Ko i adivimFo Sogy
Options :

6

fad



Question Number : 28 Question Id : 5471142828 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If C is the boundary of the circular disc x* + y? < 1,z=0and F =-y% + x*j then
§F.dr=__.

F=-p%+x% ewond x? +y2 <1,2=0 3857680 S dﬂ;@ﬂéw.dr =

Options :

m

2
1. %

8
2. %

3n
3.¢ 7

2
4, %

Question Number : 29 Question Id : 5471142829 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



(1 2 34 5 67 B)is
> A A 2 HE B
1 2 34 5 67 8
G 1 47 2 58 5) 38
Options :
Odd permutation
- 852 HIrG0
Even permutation
28 HIC0o
2. %
Both Odd permutation and Even permutation
52 HIPB0 HOBO3DL DB HDIPBO  TotdRD
3. %
None of these
DB 57
4. %

Question Number : 30 Question Id : 5471142830 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The algebraic structure ({0.1.2.3}.+,.%,)is

0.1.2.3}.4,.x,) o s &858 095)%08
4-%4 ey

Options :



a ring

2.8 Redho
1.4

integral domain

FrTeos (SEE5w

2. #

a field

2.8 S(85m
3. #®

a skew field

a8 Qg Reddo
4, %

Question Number : 31 Question Id : 5471142831 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of nilpotent elements in the ring (Zg.+¢.%g)1s __ ?

(Zg.,+g.%g ) $005006°) #8ars Swroseo Soggy .

Options :
|
1.9
2



Question Number : 32 Question Id : 5471142832 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let R=(Zy.+10.%p ) be aring and U'={0,3,6,9} is an ideal of R then

R=(Zyy. %y ) S00bin Sbafn U ={0.3.6.9}636 R % sito eond
Options :

U 1s a principle ideal but not maximal

U 038 $T78 sd8ioH&od, ohEssh esto s

1. %

U is prime ideal but not principle ideal

U 036 ogray e88ing@od 5o (B8 esdo 5o
2. %

U is maximal ideal but not prime ideal

U o038 00585 o88)inHEod 2 egray oit)o s°
3. %

U 1s prime 1deal, principle, maximal ideal

U o038 @erey @ééﬁgo, (295 @éégo, B8 @éégo ®:)ED08.
4.«



Question Number : 33 Question Id : 5471142833 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let R={m-+in/mneZbe the ring of Gaussian integers and Z be the ring of

integers. The mapping f:R—Z defined by f(m+in)=m. Ym+in< R, then f

18

R= {m +inlmne Z}

630 TROHS Grpose Sedho DO Z &b rrore Sodbo. f1R—Z

@A) f(m+in)=m. Ym+ing R, ™ W0 f s6__.
Options :

homomorphism

not a homomorphism

QD0EFNS 52D
2. ¢

Isomorphism

éa&uéd:maﬁé
3. %

epimorphism

?&o@ﬁ‘{:ﬁ Do BIeades
4. %



Question Number : 34 Question Id : 5471142834 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If F 1s a field then the number of ideals in F 1is.

F 85703 c.otds Doay
Options :

0

Infinite

e9>8a0¢%0

Question Number : 35 Question Id : 5471142835 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following in not correct?

& (808 FAE* $80 5B DB?
Options :

Every field is an integral domain

58 FFo a8 Jreros (HRENHH0b.

1. %



A ring R is without zero divisors < cancellation laws hold

R $00H08° &rly grasrer sokd) o FGIS aeydiren $BFaw

2. %
A commutative division ring is field
DA Degril Hodho @I FB5n ©HEod
3. %
Every integral domain is field
%8 Frpol (K¥B¥o FPHHH0k.
4.

Question Number : 36 Question Id : 5471142836 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

I£1 8 :{Ln-l-Lm I?.FHEA‘T%.Th‘ED which of the following is TRUE:
3 F J
iy 1 .
S={—+— [nme N} owd 8obd 7I8° 26 R
ke J
Options :

S 1s closed

S &38 HoHE BN

S 1s not open

S ©38 S $08 57



0 is not a limit point of S

0 o386 S Q) @56 Hotdd) o

S 1s connected

S @938 Hor28 HMW&

Question Number : 37 Question Id : 5471142837 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Every bounded sequence has at least

DA DS WIS D0 ------- €008,

Options :
one limit point

w8 €958 oD

two limit points

Gocd) €958 Hothen

more than two

Gocf.aSaﬂ;L Qs%b

4, %



None of these

DA 57D

Question Number : 38 Question Id : 5471142838 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The mfimum of the set 5= {.T eR" / X% x} 1S

S={xeR"/x’ <x| 58 G K6 60D e

Options :

0
1. ¢

-1
2. %

2
3. %

3
4, %

Question Number : 39 Question Id : 5471142839 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let 4= [ ! ne Nl B= [ 1 /0{ X < lhe two subsets ofR. Then

IR U7l J T

A= { Hl/f?(:]\’ B:{li/o_u }@mmmmmﬁf@? .
1+ X _

Options :

Both 4 and B are closed
A 08050 B exn Boisr ‘{}Do"aejéér

1. %

A 1s closed and B 1s not closed

A ﬁoaﬁejéé:o, B ﬁoé&éa’m =Lt y)
2. #

A 1s not closed and B is closed

A ﬁoa’aejéa’m s, B ﬁoée)éa"’:m
3. %

Neither 4 nor B 1s closed

A 86c5n B en Bodr ?’aoéejééw oot
4.

Question Number : 40 Question Id : 5471142840 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If s, =vn+1 <vn thenlims, ——-—
=vVn+1-vn eowd lims, = ---—--

Options :



1. %

3
2. %

0
3. %

2
4, %

Question Number : 41 Question Id : 5471142841 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

oo
. 1 o2 =
The series Z— is divergent if

w17 (logn ]p

= |
263 Z— ©HH8e0 Bomee o
n=11(logn)

Options :
pr=1
1. %
p -c;i:']_
2. %
p>1



Question Number : 42 Question Id : 5471142842 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The sequence s,, = 1 +% +§+ .....+%i5
5 =1 +§+§+ +T]; DEGD0DB RGH0 ----m---
Options :
divergent
e9DVB0S
1. %
convergent
298 W0H
2. %

infinite sequence

290" A0
3. %
not a conv El‘gEIH
292080830
4, %

Question Number : 43 Question Id : 5471142843 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
| HE HE
The value of Lr | —+ 3+ i e e
nol B (n+1)  (n+2) 8n
1 "2 7> 1
Lt [ —+ % Tt — [ Dend
moolin (prl) (m+2) 8n
Options :
3
h
1.4
2. %
3 5
s,
=y
3.8
log8
4, %

Question Number : 44 Question Id : 5471142844 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



- 2 ) -
I H12x-1 —lgx<?

If f(x)=

Options :
/ (x)has maximum at x=2

x=238 f(x) 508 Dendido EOA &otwod

f'(2)does not exist
F(2)% Qo585
2. %
f(x)is decreasing on [_ 1, 2]

L [-12] 2 f(x)eo58°&nso

/(x)is continuous on [—1.3]

[-13]2 f(x) o255

Question Number : 45 Question Id : 5471142845 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If f (r] =x and g(x)= % are defined on [a.b] then by Cauchy’s mean value
B

theorem, which of the following is TRUE for ¢ €(a.b).

-

Vx

ey derodin (Cauchy’s mean value theorem) ({s*So ¢ € (a.b)

Ehotren f(x)=yx %00 g(x)=— [a,b] ot A0, b otfsd

3% Bod AE* 2B HEE?
Options :

c is the geometric mean between « and b

cORB aHBS b BwE) rHee HogigRasm

1. ¢

¢ 1s the harmonic mean between ¢ and b

cONB aban b EwE) TS HogEosw
2. %

c is the arithmetic mean between « and b

coNd aHdssn b cﬂa:éé_ 05 5’13:‘.3553:5633
3. #

ab
E=
a+b

4, %

Question Number : 46 Question Id : 5471142846 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The value of U( p. f) for the function # defined by f/(x -xzon[OJ]aud

P:{O

1
p-joid
4 ¢

e K)ﬂﬁﬁ&oﬁﬁanﬁé >0 U(p, f)end =

-I-»IM

P | [—
e | fad
—v—

}macm [0.1)%005 f & gdhaseQ) f(x)=2"

-I—IM
4;.|u)

Options :
7
32
1. =
15
3_,}
2.4 T
30
32
3. %
0
4. %

Question Number : 47 Question Id : 5471142847 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If f is bounded on [a.b] and P be a partition of [n.b] then which of the following is
TRUE?
f&d6 [a.b] % $6ago HOdw [a.b]$% P elb &8 e wad §ob

TAE 2B HEF?

Options:
L(P.f)<M(D—a)

1.4

L(P.f)=M(b—a)

L(P.f)<m(b—a)

L(P.f)zm(b—a)

Question Number : 48 Question Id : 5471142848 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

fﬂg[x]dx =
Options :

0

1. %



|

Ly

Question Number : 49 Question Id : 5471142849 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

2xydx—xZdy

= =01s

The general solution of

o
PIEEE = 0 ahog), Forde 6

Options :

X% =gy
1.¢

yZ =cx
2. %

Xy = c
3. %

None of these

DA 5D



Question Number : 50 Question Id : 5471142850 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

x+3 y-2 z+l

The line —a— : and the plane 4x+5y+32-5=0 infersect af
apomt .

x+3 y-2 z+4l ] .
o : = == ; 500 oo 4 +5y+32-5=0 o po&s ooy
Options:

(371._—2}
1. %

(3~—2¢1}
2.

(2,-1,3)
3. %

(-1.-2.-3)
4. %

Question Number : 51 Question Id : 5471142851 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



. o= : dy = b
The solution of the differential equation 3y d_ +2x=0 represents a family of .
:

”‘ ;
3_1'd;1+ 2% = Desif8erd Sansbensin Qo) ¢ o8 _ Sinoard) Hrdkod?
»

Options :

parabolas

TP 00 eN

Circles

éejéésae_n

Straight lines

J8E e

Ellipses
é}ééej@&n
q:l.:l —p

Question Number : 52 Question Id : 5471142852 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: s . d :
The integrating factor of xd—i + vy =1y?%logx is

x% +y =y?logx OB DIAFSOD (DESHD

Options :



1
X

2. %
_1‘

3. ®
2x

4, @

Question Number : 53 Question Id : 5471142853 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is exact differential equation?

208 T7e¢5° DA O DD 2SBS0 ?

Options :

2xy dx — (y? + x?)dy = 0

(ysin2x)dx — (y? + cos?x)dy = 0

2. ¥

(a2 — 2xy — y¥)dx — (x — y)?dy =0



None of these

IR AL

Question Number : 54 Question Id : 5471142854 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

2xy

: dx :
The general solution of — = ——— 18
= dy XY

dx 2xy
> = T, S8, FTEed FE

Options :

y(x* —3y7) =¢€

1. %

x(y2—3x3)=¢C
2. #

x(x2 —-3y3)=C
3. %

¥By-t+a)=¢C
4, %

Question Number : 55 Question Id : 5471142855 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Equation of the orthogonal trajectories for x2 + y? + 2fy+1=101s
x? Y% +2fy +1 = 0 5570 Hiwoere vowdodcre Drnowo oBHVg),

HAE6ea0

Options :

x2+y*+2gx—1=0

1.¢
X2 +y*+2fy+1=0
2. %
x2+y*+2fy—1=0
3. %

x> +y*+2gx+1=0

Question Number : 56 Question Id : 5471142856 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. 2 dy .
The general solution of x4p' =y+px,p :f'—, 1S
dx

.T4p1 =SB :%!&mé{; odBed JnB88e FES .
'

Options :

1. %



s
Yy=ex¥Ee

2}
Xy=c x+c

2. ¥
.
x=cy+c
3. %
xy=c y+c
4. %

Question Number : 57 Question Id : 5471142857 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of p = log(px — y) where p = % i3

p=log(px — y) BnE), Foeoes FEI (@),¢ p = j—‘;)
Options :

y = cx+e



y=cx? + e€

Question Number : 58 Question Id : 5471142858 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of p? = 4x? is

p? = 4x? a30g), Foetes S

Options:

(¥ —x*—=e)(y+x*=€)=0D

1. %

(y—x—c)y+x*—¢c)=0
2. %

(y+x—c)(y+x—¢c)=0
3. %

None of these

D8 57D

Question Number : 59 Question Id : 5471142859 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The particular integral of (D* — 4D?)y =5 is

(D* —4D?*)y =5 awg), PBE DTS (P.D)

Options :
- 5
8
1. %
5
g
2. %
5
_ Tyl
8
3.¢
5
4, %

Question Number : 60 Question Id : 5471142860 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

2

Which of the following is NOT a solution of the differential equation d_; +y=1.
i

2

d*y
(0B 06 00—+ y = Lettod BRI PGS 7
dx

Options:

y=2+SIx+COSX
1.9



y=14cosx

y=1+sinx

Question Number : 61 Question Id : 5471142861 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If x(t) 1 the solwion of the differential  equation

d*x _d [ dx ) 0 .
—:+5ﬁ+6x:0. x(D):l. ﬁ =-| then x(¢)attains its maximum value at
= dt \dt )i
=
o d*x _dx . [
o8l S88nE —+5—+6r=0, x(0)=L t— =138 FES x(¢)
d= dt A o

Qond ! =__ 38 x(f) HoE ensSi> EOA Goknod.

Options :




Question Number : 62 Question Id : 5471142862 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The particular integral ofﬁ (e®*V) is

ﬁ (e¥V) ciog) DB(E v (P.I)

Options :

1
f(D+a)




Vf[ﬂ+a]

1
f(D+a)V

ax

4. &

Question Number : 63 Question Id : 5471142863 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following is the solution of the differential equation
)"+ 0+ y=4sin(logx), x>0,
& (8B A6 96 ¥+ +y =4sin(logx). x> 0 eSKois $Ebemsn
g FEE ©HH06?

Options :

vy =2xsin(logx)

1. %

v=—2xsin(logx)
2. %

v=—2logx cos(logx)
3. %



v =2logx cos(logx)

Question Number : 64 Question Id : 5471142864 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

o .y . B e
In the equation d—+‘t':l+smr~ d;Jr.r:cosf. if y=1+e" +sintthenx=
[ [

dx oy .
F+J-‘:1+smr. T-I-.T:CDSI, S8’ y=1+e +sinf oamd x= .
; ar ' =

Options :

1+cost

2+2simt

=i
X+€& +COsi

Question Number : 65 Question Id : 5471142865 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The  complete solution ~ of  the differential equation

&’y i
—'1+pi+ qy=0isy=ce " +c,e " then pand gare .
fi\‘z dx
2 d 2_1' dy sy iy
oS80S HD8sms Y tp oty = @) Peeles P y=ce +cpe
e dx

©and p by g deoden .

Options :

p=3,9=3

Question Number : 66 Question Id : 5471142866 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A plane meets the coordinate axis in 4,5, C. (a., b },) 1§ the centroid of the
triangle 4BC. Then the equation of the plane1s

o8 dvo smigrots A,B,C. 55 gobiod. Behwiin 4BC @) So@gro

(a, By ]@03:3 8 $00 EnY) st

Options :

1%
+=—+—=3
a By
1.¢
X ¥ 2
—k ]
a p vy
2. %
b} y  Z
+——+—=3
3a 36 3y
3. %
axt+py-tyz=1
4. %

Question Number : 67 Question Id : 5471142867 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The angle between the lines of intersection of the plane X+ ) +Z =(and the

.
cone ayz +bhzx+ay=0is ?theu .

-

X+y+z= 0 S0 e ayz + box+oxy = 0 zropard) 20803 Do

Al oot %@0}33 o

-

Options :

abc =0
a+b+c=0

1. 1 1
+- 4

a b ¢

a® +bh* 4% =1

Question Number : 68 Question Id : 5471142868 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
. : i 2 2
If the equation ax™ +by” + ¢z + 2ux +2vy + 2wz +d = 0 represents a cone
then .

) g )
ax” +by” +cz” +2ux + 20y + 2uz +d = 0 58088mn Fopard) HrdY



Options :

2 2 Z
U +vo+w =d

1. %
b 2 7
u v w
+—+—=d
a b c
2. ¥
L .L1.1
—+—+—=d
u v ow
3. %
7 7 3 7
u-+v-+w =d-
4. %

Question Number : 69 Question Id : 5471142869 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The foot of the perpendicular from (e, /3, y] onthe Y —axisis .

(@, ,7)Both $08 ¥ —ofsn M vondrdo .

Options :
(0.5.0)
1.¢
(0,0,7)
2. %



(«.0.0)

(0.0.0)

Question Number : 70 Question Id : 5471142870 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The angle between the planes 3x —4y +52=0.2x—y—2z=51s

3X — 4y +52=0.2X —y — 22 = 5 & dere) Lt

Options :
I
3
1. %
Tt
4
2. %
m
2
3.¢¥
I
5



Question Number : 71 Question Id : 5471142871 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The equation of the plane through (2,—1,3) and parallel to the plane

IX—4y-72+5=01s
(2. -1. 3) Doty oot T 3x — 4y — 72+ 5 = 0 Serdd wdrodborr &)

B0 DEBRAD
Options:

=3y + Tz —= 21

1. =

= -ay 17 =19
2. %

3x—4y+ Tz =31
3. %

XAy —T7I= =19
4. &

Question Number : 72 Question Id : 5471142872 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The equation to the plane through the line of intersection of X —y +3z+5=10
and 2x +y — 2z + 6 = 0 and passing through (-3,1,1) is

X—y+32+5=0208a02x+y-22+6=0 dore pocdow o Jdr

(=3,1,1) Dociosd) ooz b dwdn HREGEAD

Options :

9k +3y—5z2+29=0

1. %
Ix+3y—z+t1 =10
2. #
XTI 4H2—5=0
3. &
None of these
RIAR- AL
4, @

Question Number : 73 Question Id : 5471142873 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The volume of the tetrahedron formed by the planes 3y +4z=0, 4z+5x=0,
Sx+3y=0,5x+3p+4z=91s .

dodom 3y+4z=0, 4z+5x=0. Sx+3y=0, Sx+3y+4z=93 QBjoeid

S8 By oIOSPRD .



Options :

81
1. %

3l

T
2.¢

20
3. #®

243
4, %

Question Number : 74 Question Id : 5471142874 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the equation 2x* — 6y° — pz* +18yz+2zx+xy = 0 tepresents a pair of planes then
B
Botd Suiine Hodins $dusbntn 2x°—6y" — pz* +18yz+ 22+ 1y = Owavd

P=
Options :
1
2
1. %
32



Question Number : 75 Question Id : 5471142875 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The condition that the line % =% = % is normal to the plane ax + by +

cz=d 13
X

e :ﬂz%wé 0 ax+ by + cz = d erds woeor™ &ochtrgd Aokavsn

l m

Options :

a_ b ¢

I m n
1.4

a b ¢

m [ n
2. %

a_ b ¢

m

3. %

None of these

DESTED



Question Number : 76 Question Id : 5471142876 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The distance of the point (0,1,2)from the plane 2x—y+z+3=0 measured parallel

X W T
roﬂlelmeT:'—:—ls

2x—y+2+3=080508% (0,1,2)B0gi% o il %:-_]:_'

os Dpd Sdrodbor FOn .

Options:

Jii
2

1.9

1

7
2. ®

2

49
3. #®

1
4. %

Question Number : 77 Question Id : 5471142877 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
The value of & for which the plane x+y+: =3 touches the sphere
t oy 4z --2y-27-6=01s .
X+y+2 :kﬁ o3 oo ¥’ +_1-‘3 s —2.?—3_1‘—2:—6:0@3 o ‘éﬁje]%f_on,
ke

Options:

2. ¢

3
3. %

+3.4/3
4, %

Question Number : 78 Question Id : 5471142878 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The radius of the sphere which passes through the points (3.0.2)(-L11)(2,-5.4)
and whose center lies on the plane 2x+3y+4z-6=01s .

Dotogen (3.0.2)(-LL1)(2-5.4)omme e $Bof Soi 2x4+3y+4z-6=0

S0 6ol FEh Gy iy .



Options :

7

1. %

gl |
2. ®

J14
3. ¥

27
4, %

Question Number : 79 Question Id : 5471142879 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The equation of the tangent plane to 3x? — 4y? = 2z at (2.-14) is

(2-14) 3¢ 322 — 4y? = 22 B3 0y6 00 HRSCE

Options :
2x+3y+z=0

Dk B —Z a0

by =g
3.¢



bx — 2y +z—5 =10

Question Number : 80 Question Id : 5471142880 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The equation of the sphere with centre at (2, —1,3) and radius 5 is
(2,—1,3) 3o H08aiw av@ﬁép 5 e 0 B DSt
Options:

x2+y2+22—-4x+18z+11=0

1. %
x2+y?2+z2—4x—11=0
2. %
x2+y?+2z2-182—-11=0
3. %
x2+y*+z2—4x+y—182—-11=0
4.¥

Question Number : 81 Question Id : 5471142881 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Which of the following is the condition that a cone

i) g §) .
ax” +by” +cz”+2fiz+2gzx+ 2y =0 may have three mutually perpendicular

generators.

Bob RS D Dokosiorkn Bogod) e’ +by” +cz” +2fz +2gzx+ 2y =0
28&%0 woaor® 406 S a5tpod D08,

Options:

o @ +b+c=0

1 1 1
+—+

a b c

ab+bc+ca=0

Question Number : 82 Question Id : 5471142882 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The general equation of the cone of the second degree which pass through the co-

ordimate axes 1s

AirosEo thot b S0 AR, Totks) 86118 HDSGEaD



Options :

fyz + gzx + hxy = 0

1. %
fyx +gzy + hxy = 0
2. %
fy+gz+hx=0
3. %
None of these
DA
4, @

Question Number : 83 Question Id : 5471142883 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The vertex of the cone 2x* + 2y* + 7z% — 10yz — 10zx + 2x + 2y + 26z — 17 =
0is

2 +2y* + 72" = 10yz — 102x + 2x + 2y + 262 - 17 = Odogoip a8,
£l
ol

Options :

(1.3.4)



®
(1.2.3)
3. %
(Z;2. 1
4.«

Question Number : 84 Question Id : 5471142884 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Surface represented by the equation - y* +4yz +4zv—6x-2y -8z +5=0is___.
588 x* -y +dyz+dze—6r—2y—8z+5=0 D &56SD P00,
Options:

Cone

FOg0)

1. %

Pair of planes

Sersane 238

Hyperbolic cylinder

SHTHOAD "m:gﬁéa’m
3. %



Elliptic cylinder
HEHE &rdso
al) &= @

Question Number : 85 Question Id : 5471142885 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: B4 35 . X—a )Y :
Which of the following 1s the condition that the line f =—= may

-

touch the ellipsoid 3x” +8y” +2° =¢".

x-2 y-1 z-3 5 o
B o By, HY ée}éaa"m T +8y +z =
/ m o on » ‘

o) @é)%ofﬁc;véﬁé 0D
Options:

204+m+3n=0

1. %

3/+8m+n=0
2. %

Ol +8m+3n=0
3. %

3/ —8m+3n=0
4. %



Question Number : 86 Question Id : 5471142886 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The equation of the parabolic cylinder is

DT°HOOLH QTDLHD ABE),  PALBEBD

Options:

x = 2a’y
1. %

y = 2a’x
2. %

y? = 2a*x
3.9

x? = 2a%y
4. %

Question Number : 87 Question Id : 5471142887 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Find the equation to the right circular cylinder whose guiding circle is x2 + y? +

2£=9, x-y+z=3
drdgin x* +y +20 =9, x—y+z=3 988 vowddo Ardssnaioy),

HEBRAD



Options :

x2+y2+z24+xy+yz—2x—9=0

1.¢

x2+y?+2z224+xz+yx—2zy—9=0
2. %

x?+y?+4z22+xz+yx—zy+3=0
3. %

x2+2y2—z24+xy—yz—zx+2=0
4. %

Question Number : 88 Question Id : 5471142888 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The condition for the two spheres x + y2 + z2 + 2u,x + 2v,y + 2w,z + d; = 0

and x2 + y2 + 2% + 2u,x + 2v,y + 2w,z +d, = 0 to cut orthogonally is

Xy 4+ 22+ ux + 20,y + 2wz +d; = 0 o8oko x2+yE + 28+ ux +
20,) + 2wz + dy = 0 &0 e wotore o8 Herdd Ao

Options :

2(u Uy + V103 + Wwiwy) = d; + d;

1.4



2(“11?2 + .UIWE - Wl'llz) —= dl + dz

2. %

Z(Hluz + 1;?11,1'2 + W1W2) — dldz
3. 8

None of these

DESCED

Question Number : 89 Question Id : 5471142889 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The equation to the polar plane of the point (x;, Xy, X3) w.r.t.the sphere S = 0 is

S =0 Avdw "“’3'3'5 (X1, Xg, X3) O308), a0 DeDEGEAD

Options :

5=1
1. %

511 =0
2. %

Sl =0
3. ¥

S,,=0



Question Number : 90 Question Id : 5471142890 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The point of contact of the spheres x* + y# +z* + 2x—4y—4z -7 =0and
2 2 2 : _ 1
X“+y +2"+2x-4y-162+65=015 .
) 3] 7 ) I ]
X+ +27+2x-4y—4z-T=000w x"+y " +z"+2x—4y-16z+65=0

o S5 S .

Options:

Question Number : 91 Question Id : 5471142891 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



3n+2 i .
ne N ;are respectively

The mfimum and supremum of the set {2 1
n+

{319 +2
2n+l

Options:

/n EN} RENEES 163 Grba) areh nBdn SU5 he) aPther AP

L | k2
| h

b | I
| Ln

ol
r2 |

| 2
1 | tn

4, %
Question Number : 92 Question Id : 5471142892 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

X+ 2‘ is not differentiable at
58 essedabo sow.

Time: 0
The function f(x)=

Bbavo f(x)=|x+2| &6

Options :

2



2. ¥

v=-—1
3. %

r=1
4. %

Question Number : 93 Question Id : 5471142893 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If aand b are urrotational vectors then a x b is

1508050 b e [piedied Kbfoowd axbeds
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Neither irrotational nor solenoidal vector
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If L(U.77) be the vector spaces of all lmear transformations from /( F')to

V(F)such thatdimU =n, dimV =mthen dimZ(U.V)=__
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dimU =n, dimV’ =meond dimL(U,V)=
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The order of the smallest non-abelian group 1s
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. . sz : R.
If S be any 1deal of a ring R then the unit element of —1s
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y=cr—c” s the general solution of the differential equation
Feede PES y=cr—c e Ko o55ed Sosbnsn .
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e *logx=_ .
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The number of elements is an alternating group A4 1s
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For the homomorphism f - R = R defined by f(x) = x, 7xeR, then Kerf =
556758 R - R & f(x) =x, xeR, e 0, Kerf=___.
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